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SIHAE 20184

Oll &FXb= 0 =0l A

A2 0 2_ANM=E CIMTIAINY X&AII=3

OPN=ENE— SISEEIE)

2 & A &
&t = 2| oH s &t INE HECX|ESH s

= A 204,059 149,381 & 204,059 54,678 149,381
PSpell= 0 0lHISXA 50,000 54,200 4,200
EES= 0 0| XA 0 0 0
a2 0 0|2y 0 0 0
o eeeny 0 0|72 0 0 0
NEr225% 0 0|03 100,000 0 100,000
OIXI 23] 2,559 A51,919| 01 XI3 54,059 478 53,581
=} 0 0| X2« 0 0 0
Ol K=&l 1,500 1,300 | 0l =2 0 0 0
JIEF 200,000 200,000 | J|EHXIZ 0 0 0
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Oll&ERb== 0 204

2AF= - 2eMds & AR
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@ >YH= ol 1)
IR XL T = A E U o
TSIkt

200 M2l 200,000 200 199,800
220 SAIEAI2I= 200,000 0 200,000
224 JIEt== 200,000 0 200,000
22406  1e|=+g 200,000 0 200,000

OF 21 ZArg| 200,000,000& = 200,000
700 BE=USLLHEIHH 4,059 54,478 250,419
710 Ed=2S 2,559 54,478 Ab1,919
714 HXI3=2l= 2,559 54,478 251,919
714-01  OIXI=al= 2,559 54,478 251,919

OUIXI= 2= 2,559,000& = 2,559
720 LHS Hch 1,500 0 1,500
722 HESX0+== 1,500 0 1,500
722-04  GI& =01kt 1,500 0 1,500

OUIEZ OlXt=+=¢ 1,500,000& = 1,500
= g & A 204,059 54,678 149, 381
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Oll&ERb== 0 204

7= - 2std=s & AEAENE XE)|I=S
® XEH= (Eh9): @)
XX -SHE - JHH . O - NRAR - BES NS HATX &N HInE2

23 204,059 54,678 149,381
2510z 30,000 30,000 0
SSHEAL K 30,000 30,000 0
SOSAL X2 (2SHIS L ANKRINY NAIIB) 30,000 30,000 0
SHASALKI 17,000 17,000 0
201 et 17,000 17,000 0
0B ALY 17,000 17,000 17,000 0

OFAHE 015 S%3| 10,000,000 = 10,000

Ot BGE = ZNE 7,000,0008 = 7,000
CHHE s JIQM X 10,000 10,000 0
307 QI2t0|H 10,000 10,000 0
04 DIIBAIAIRIEE 10,000 10,000 10,000 0

OCHHE 3t DI 10,000,000 = 10,000
DL Q128 oIl 3,000 3,000 0
201 et 3,000 3,000 0
0B A 3,000 3,000 3,000 0

OB o128t o3t 0| 3,000,0008! = 3.000
NS 174,059 24,678 149,381
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ZX .22 . HH . O - NRAY - BES INE- HMET XS Hlnsz2

MBS |4 20,000 24,200 A4,200

MBS AE(2FHS L AXTANY XA12) 10,000 11,000 A1,000

MEHSHAL X 10,000 11,000 A1,000

307 2IZtolH 10,000 11,000 AT1,000

04 DIbE 10,000 10,000 11,000 A 1,000
OMEHS A 10,000,0002 = 10,000

HSAL S=(25H QIMTIRINE XIRII2) 10,000 13,200 A3,200

HMEAL 2= 10,000 13,200 23,200

401 AlEHIY 10,000 13,200 A3,200

01 Al<H 10,000 10,000 13,200 A3,200
OMETSA 10,000,0002 = 10,000

WRES(S2D) 154,059 478 153,581

BENE (2SS 2D/ EINED) 154,059 478 153,581

CEI=NY 154,059 478 153,581

602 GiIXI= 54,059 478 53,581

01 ox= 54,059 54,059 478 53,581
OulIxI2 54,059,0002 = 54,059

704 OIEF2 100,000 0 100,000
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EE .22 . HH. O - NSAR - HES B A X EoH e
01 oE= 100,000 100,000 0 100,000
OssRRDIZ W2 100,000,008 = 100,000
=z g 204,059 54,678 149,381
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Oll&ERb== 0 204

SIHFE ¢ FeHE L ARKZINE XAIIS _

h (el Hel)
24 9 & & o
XK}OH

oHAEH =) STIA TuNe] =X A9 iy

T He | moe=2 | g2xz | o= | R | a2 Ol Xt JIEt H ©® HIEXS | SAd | pmzau | A3V | 022 | JIEL | (@-D)
e =9 | (oxzs) TS Aol ENe]| AHL | AFIH| | %213 | g3sE | 2iEae | KIS

20123 DX 220,192 0 0 0 0 0 1,192 219,000 212,221 212,221 0 0 0 0 0 7,971
20139 &= 21,226 0 0 0 0 0 226 21,000 27,39 27,39 0 0 0 0 0 A6,173
20144 % 200,378 0 0 0 0 0 378 200,000 46,937 46,937 0 0 0 0 0 153,441
201549 & 3,329 0 0 0 0 0 3,329 0 53,090 53,090 0 0 0 0 0 AN9,761
201649 &= 2,506 0 0 0 0 0 2,506 0 51,425 51,425 0 0 0 0 0 A48,919
20179 & 200 0 0 0 0 0 200 0 54,200 54,200 0 0 0 0 0 AB4,000
20189 & 201,500 0 0 0 0 0 1,500 200,000 50,000 50,000 0 0 0 0 0 151,500
Al 649,331 0 0 0 0 0 9,331 640,000 495,272 495,272 0 0 0 0 0 154,059
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SIHAE 20184
Oll&ERb== 0 204
7= - 2std=s & AEAENE XE)|I=S

Erel: A e
OIXI 2 ol
22 01 XI(=1) A
2016 =S H 017HELSHTHH@ 2018 =LSHTHHD = {((Og6))
Bl 56,559 2,559 154,059 151,500
Xz B 56,559 2,559 54,059 51,500
=8 56,559 2,559 54,059 51,500
HE= ] 0 0 100,000 100,000
s2eI3 0 0 100,000 100,000
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